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Approximation Quiz 1 

Directions: What approximate value should come in the place of question mark (?). 

1.  10303.88 ÷ 55.94 + 62.95 = ? 

A.  247   B.  250   C.  260   D.  220    E.  200 
 

2.  (12.999)3= ? 

A.  1800  B.  2100  C.  2000  D.  2500   E.  2200 
 

3.  21 + 3.9 × 2.9 + 8.99 = ? 

A.  42   B.  44   C.  34   D.  36    E.  24 
 

4.  √
𝟏𝟐𝟑𝟐𝟏

𝟑𝟔.𝟎𝟕
= ? 

A.20   B.18.5   C.17   D.17.5    E.  21 
 

5.  50550 ÷ (50 × 5) = ? 

A.  350   B.  150   C.  300   D.  250    E.  200 
 

6.  22.9889 ÷ ? = 23 

A.  1   B.  23   C.  232   D.  24    E.  255 
 

7.  19.03 × 16.98 × 13.01 = ? 

A.  4000  B.  4100  C.  4200  D.  4250   E.  4300 
 

8. 49.0003 ÷ 74.999 = ? 

A.  0.05  B.  0.2   C.  1   D.  0.7    E.  2 

9.  134% of 3894 + 38.94 of 134 = ? 

A.  11452  B.  10000  C.  10452  D.  1100   E.  12000 

10. 
𝟑

𝟓
×  

𝟒

𝟗
× 5894.92 = ? 

A.  1527  B.  1572  C.  1725  D.1275    E.  1257 

Correct Answers: 

1 2 3 4 5 6 7 8 9 10 
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Explanations: 
 
1.  10303.88 ÷ 55.94 + 62.95 = ? 
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? = 10304 + 56 + 63 

 

=  
10304 

 + 63 = 184 + 63 = 247. 
56 

 

Hence, option A is correct. 

 

 

2.  ? = (12.999)3 ≈ (13)3 ≈ 2197 ≈ 2200 

 
Hence, option E is correct. 
 
 

3. ? = 21 + 3.9 × 2.9 + 8.99 = 21 + 4 × 3 + 9 

 
? = 21 + 12 + 9 = 42. 
 
Hence, option A is correct. 

 
 

4.   √
12321

36.07
 = 

111

6
 = 18.5 

 
Hence, option B is correct. 
 

 

5. 

? =  
50550 

 = 202.2 ≈ 200. 
50 × 5 

 
Hence, option E is correct. 

 
 

6.  22.9889 ÷ ? = 23 

 

or,   
23 

 = 23   or,   ? =  
23 

 = 1 
? 23 

 
Hence, option A is correct. 

 

7.  ? = 19 × 17 × 13 = 4199 ≈ 4200. 

 

Hence, option C is correct. 

 



 

 

8. 

? =  
49 

 = 0.655 ≈ 0.7 
75 

 
Hence, option D is correct. 

 
 

9. 

? =  
134 × 3894 

 + 38.94 × 134 
100 

 
= 38.94 × 134 + 38.94 × 134 
 
≈ 2 × (39 × 134) = 78 × 134 = 10452. 
 
Hence, option C is correct. 

 
 

10. 

? =  
3 

 ×  
4 

 × 5895 = 1572 
5 9 

 
Hence, option B is correct.  
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